N = 0l & At & M A

20218 & 204 LBHSIH HIOIR4HH = ~ HIOIQ4AE =

A HOIQAaER A Ol A Dt
M Hol22 SHA 55 A¥
el MAR =2 HOIQBAAH =4 (&)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2
HHOl 2 & = 46,199,539 22,704,862 23,494,677
s 1,500,000
< 44,699,539
HHOl 2 &H 1t 28,290,890 11,493,721 16,797,169
HHOI229 S4X == &8 18,512,100 6,777,500 11,734,600
MAE =& HIOIRLEHAH =4 17,904,600 6,260,000 11,644,600
Holee g4dst RFA 2,584,600 2,835,000 A 250,400
201 Let24E] 40,600 41,000 A 400
01 At 22l 37,000 37,000 0
OBt & =2 34,000
Otioleee| 438 S| 3,000
03 & Ar2 Z I 3,600 4,000 A 400
O2s& CE0 28 2¢ 3,600
202 044l 3,000 3,000 0
01 SLHOIYI 3,000 3,000 0
Oottoledgx 2= 3,000
203 YR =&l 41,000 41,000 0
03 AIF=XH R =AH| 41,000 41,000 0
OHolee| 43 = 41,000
306 =2 2,500,000 2,750,000 A 250,000
01 =3 2,500,000 2,750,000 A 250,000
OLLSHHASIUYIUETH EAH S 2,500,000
HHOIRD1e oIl&E 2 E ALY 13,380,000 100,000 13,280,000
306 93 100,000 100,000 0
01 &3 100,000 100,000 0
OJlgolad s dstEHMAY XA (HS) 50,000
OXNSLY SIESE ALLHAG(HE) 50,000
308 XXM SOIA 13,280,000 0 13,280,000
M3 2SOoHetE & XA E A HI 13,280,000 0 13,280,000
OHiol2 sdldd s 28 2F 300,000
OHAE 228 24 200,000
OXNXH-CHE )| gh XNASHAMAME(UHE) 12,780,000
NEZXSH AESFRN2AALE RE(HES) 780,000 1,500,000 A720,000
402 2I2tXE201 & 780,000 1,500,000 A720,000
01 212t 2 AL E = (REM ) 780,000 1,500,000 A720,000
OMIZXZ2H A4SSXNAANLE 2F(UHS) 780,000
tetEE i+ 248 X3 960,000 1,545,000 A 585,000
306 ¢ 2 960,000 1,000,000 A 40,000




CHHOI A = M
CHOI22 SAX &5 AE
CNAE =22 ghol

M ox
40 5 4

AR SA Y- SAEA) - HRAY - BES 0l &t o il Bl RE2

01 &3 960,000 1,000,000 A 40,000
Od4tstd &AM ALY 360,000
Os=s¢ttetgger 29 600,000

BHOIQ =< OI3tOI0l e L 2 (MEAY) 200,000 200,000 0

306 ¢ 2 200,000 200,000 0

01 &3 200,000 200,000 0
OOl Z0t3tdI0l e 29 200,000

HHOI2 SdAH Z2HH 23 607,500 517,500 90,000

Htol2 Ze2lot Izl 365,000 365,000 0

306 ¢ 2 365,000 365,000 0

01 &3 365,000 365,000 0
Obtole 22l0r JH= 365,000

HHOl2 HIAEIY JHz 152,500 152,500 0

306 EH3 152,500 152,500 0

01 &3 152,500 152,500 0
OHtolL2 HAEE JHx 130,000
OLE=HMHE0IA ZX 22,500

ZEE AU E 9L s 90,000 0 90,000

308 A EHHSOIA 90,000 0 90,000

113/ 2S0HUHeSBHEAEALS I 90,000 0 90,000
OFE=EE 238 72 23 90,000

HOIQA4Y ZELAEMA 2= 4,422,000 3,348,900 1,073, 100

HHOIQ4Y DESZ 22Y 2¥E 8 3,767,000 2,539,900 1,227,100

=22Y J¥Y HioeE 54 90,000 110,000 A20,000

308 AHXIEHHSOIA 90,000 110,000 20,000

1137/ 2SoHUHSZHEAEALS I 90,000 110,000 A20,000
OHtoI2 AIHIE HMZEXE ALY 90,000

HHOI4SE SHS I =it 672,000 675,900 A 3,900

202 04l 2,000 2,000 0

01 = LH o4 1 2,000 2,000 0
Ottol22td AL &4 2 S28s 0l 2,000

308 XXIEHHSOIA 670,000 670,000 0

11 3J2SoHUHSI S HAE ALS I 670,000 670,000 0
OHIOIQEALNY BRI ZNE FI(HS) 670,000

DEIMX HOI4td HPIHEAME 4 415,000 444,000 A 29,000

308 A EHHSOIA 415,000 430,000 A 15,000

N 3J2soeEaE2AE AR 415,000 430,000 A 15,000
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22N I BI(EH) - HRAY - BES 0l &k 24 e bl D=2t
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OBY 0l8t HERT HdH 25 N (S
) 100,000
O22¢ First RO XI& 100,000
OHIOIHM S et E AlEgHE K& 80,000
92010l =Yg =& =0 200,000 0 200,000
308 XXM SO0l A 200,000 0 200,000
N 3JN2SHUe3 A A 200,000 0 200,000
O9z21J =£71g ASXIAAY 200,000
FOI2D1 GMPI S XI& At 180,000 0 180,000
308 XXM SOIA 180,000 0 180,000
3 2SOoHetE & X A I 180,000 0 180,000
OH0I201E GMPRl S X & At 180,000
Y e MAMSII d& Iy XN (M 400,000 0 400,000
Abet)
308 XXM SOIA 400,000 0 400,000
N 3JN2SUHUe3AHAE AR 400,000 0 400,000
OZgd S MAXSI|I| d=I1= N X
2 400,000
HOI2 =H3SHPAY (HEAIY) 180,000 180,000 0
308 XX EHH SOl 180,000 180,000 0
113/ 2SoHUHSZAEEALS I 180,000 180,000 0
OHI0I2 FMSSHTPAY 180,000
O%E MIutets EIb XA (HEAIY) 130,000 130,000 0
308 XXM SOIA 130,000 130,000 0
N 3JN2SUHUS3AEAE A 130,000 130,000 0
Ooozs dzegs &t NE 130,000
ESE HIOIQEALY EIHOIH BHE RE(HEA 1,500,000 1,000,000 500,000
=
308 XX EHSOIA 1,500,000 1,000,000 500,000
113/ 2SHUHSZAEEALS I 1,500,000 1,000,000 500,000
E5E HOIQE ALY HHOIH B3E 2= 1,500,000
|9 S3 Holey 4 XA 655,000 809,000 A 154,000
oZI1J &Y =4 155,000 309,000 A 154,000
202 oddl 5,000 5,000 0
03 =L R 5,000 5,000 0
O22J1J1 =HeEs &I 220l 5,000
308 XtXIEHHSOIA 150,000 304,000 A 154,000
1132 SoHUHSI S HAE ALS I 150,000 304,000 A 154,000
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OK-227171 22 sal ¥ =&gs SIHXH 150,000

OZ2I1J1 AMHME Jl=MY X2 A (MeAL) 500,000 500,000 0

308 XXM SOl A 500,000 500,000 0

N 3JN2SUHUe3AHAE A 500,000 500,000 0
OYZJN0 &HE Jl=He XA 500,000

FoozsgdHil =48 XA 4,097,000 118,000 3,979,000

FHossgHil =4 4,014,000 34,000 3,980,000

FHOYZ=EgHA 2 14,000 14,000 0

201 L2l 6,900 8,000 A1,100

01 At 22l 6,900 8,000 A1,100
OtEs1g, 2g€=+2, SMNZT HH S 3,900
OaHz=eHl FX2e HHIYxt 3,000

401 A& HIZ 2018 7,100 6,000 1,100

01 A& HI 7,100 6,000 1,100
OFtoz =gl A2l 7,100

25 HOI2 &P =4 4,000,000 0 4,000,000

403 MtXISHHE X201 & 4,000,000 0 4,000,000

02 SO 2SUHHEAEE 2 E AL Y 4,000,000 0 4,000,000
O2E HIOIQAHET A 4,000,000

=UHe JIZ2 2 JIY B/ S 83,000 84,000 A 1,000

=W FURI s 12,000 11,000 1,000

201 Let24d] 10,000 9,000 1,000

03 &AL Z I 10,000 9,000 1,000
Od=12 B0l s=U3s 33 10,000

202 O4dl 2,000 2,000 0

01 = LH 4 Hi 2,000 2,000 0
OJIg & J12 EXNsX ¢l 2,000

el J12 - J1g WERY 2 88 53,000 53,000 0

202 04l 8,000 8,000 0

03 22 L R0l 8,000 8,000 0
O=2=28 MLy 8 AWML FA0HI 8,000

301 LA F 5,000 5,000 0

07 2BI=& 0 bl 5,000 5,000 0
Odhel ng Wwsdl=el =3 ol 5,000

308 XX EHSOIA 40,000 40,000 0

113/ 2SoHUHSZ&EEALS I 40,000 40,000 0
O2=2Y MIMY 5 AWM A iz 40,000




A= HoI 4 = £AM Bl A It
Y goo2=suX x4 X
S FUe JI2 2 Iy /X g3 (&)
AR .24 B BAGEN) - NRANY - BES Ol &k o8 il HlnE2
sEE2= MA 18,000 20,000 A 2,000
201 £B-2d| 18,000 20,000 A 2,000
01 At 22l 18,000 20,000 A2,000
Os=s dvolge EXUsI 228 ME 18,000
Y 2HZH (B0l 24Dt 72,340 80,671 A 8,331
Jl=234l 72,340 80,671 A8,331
Jl23l 72,340 80,671 A 8,331
201 £B-2dH| 17,740 20,401 A2,661
01 At 22l 17,740 20,401 AN2,661
OJle=+=&Hl 7,240
OJ122 &l 10,500
202 odl 37,800 43,470 25,670
01 = LH YI 37,800 43,470 25,670
Ol 37,800
203 PR =&l 16,800 16,800 0
01 J22IFHRF=8I 6,600 6,600 0
Outol 4t = & 6,600
04 BENSSHRF=LHI 10,200 10,200 0
OHtOl 2 &HH Bt 3,600
OstasdaHAE W 3,600
OHtol 2 &HEH X & 1t 3,000
S E S (HH0l 24 1) 1,187,450 1,168,650 18,800
HEHHK = 1,187,450 1,168,650 18,800
HEHH X = 1,187,450 1,168,650 18,800
705 =32l 34 1,187,450 1,168,650 18,800
03 Al - SXYHLI S-S 4E 795,000 795,000 0
OLLEHX MAT =z HA(172H, '10) X2t 75,000
OLEHX AYE2 A4 (2722, "11E 1X) 470,000
OLEHUX XYe2 A4 (2722, '10) xt&t 250,000
04 Al - EXISOHED| 3 0l === 0| Kk&t & 392,450 373,650 18,800
OLEHX AYE=2 A8 (1722+, '10) XtH& 11,250
OLEHUX XYz 2 A48 (2722, "11d 1X) 98,700
OEHUX ML=z A (2722, '10) X8 37,500
OLEEHHUASZSE A SR NL A ('16) 200,000
O2% HHOIQAFA X =4 AFY (2020) 45,000




N = 0l & At & M A

20218 & 204 LBHSIH HIOIR4HH = ~ HIOIQ4AE =

A= Hola= FNEESHEHASH
M HIOIQMYE ZELEMA 2=
el NEE3 Holety 4 X (Sl & &)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2
SIESHEAS N 10,276,663 7,065,932 3,210,731
s 1,500,000
< 8,776,663
Ol ZEEAMA 2= 6,386,400 3,108,000 3,278,400
s 1,500,000
< 4,886,400
NEES Holety =4 X 6,386,400 3,108,000 3,278,400
s 1,500,000
< 4,886,400
SHEE FHE ATHAY =4 548,400 666,000 A 117,600
201 Let24E] 10,000 0 10,000
01 At 22l 10,000 0 10,000
OZ&=+=EH| 10,000
203 YR =&l 3,900 0 3,900
03 AIF=XH R =AH| 3,900 0 3,900
OAHH ST 3,900
306 == 454,500 586,000 A 131,500
01 =3 454,500 586,000 A 131,500
OESEHIOI2MAUHIAHOIH 2F(UHS) 454,500
308 MtXIEHSOIH 80,000 80,000 0
01 X HHBLEES 80,000 80,000 0
OLU0E &M &&3 Iy X 80,000
BN SHSAMY SH (Y - BHS ALY )(HEA 880,000 940,000 A 60,000
o)
308 XtXIEHH SOl A 880,000 940,000 A 60,000
01 AXHHILEES 880,000 940,000 260,000
O=2=22Z & - dH= &g sS4 Mg 420,000
Ogtguole ¢es X 460,000
sty - MHE APIMNE 235t 306,000 150,000 156,000
308 XXM SO0l A 306,000 150,000 156,000
01 IXNHHBNEES 306,000 150,000 156,000
OZAAN HHASLY FHAY 150,000
OFGE 4N 28 22 HE NAAMS 36,000
Ogte - MH2HS Z&ECOA D38 K& 30,000
OHANA S& M3 HLX& 90,000
steh - MAHZ JIBAIE 25 4,402,000 1,102,000 3,300,000
s 1,500,000
< 2,902,000
202 Odl 2,000 2,000 0
01 = LH 4 Hi 2,000 2,000 0




A2 HO| QA = 2N SABSEAS
Mz oAt A HAH =
R XNEE3F 0024848 4 X (2 &HH)
- _ _ RE]
AT SN BH O (3H) - MEAY - BES Ofl At o4 %Eﬁ HR=2
OsteHIol2 JIBHAIE 25 =& H| 2,000
403 XX SRS K20| & 4,400,000 1,100,000 3,300,000
g 1,500,000
= 2,900,000
01 XIS A=2E X 2,500,000 0 2,500,000
OFAZ XAASHE 2= 2,500,000
Fag 1,500,000
& 1,000,000
02 BI2SHUSXAN2ERAEAIS Y 1,900,000 1,100,000 800,000
OFAAZ MAH AMAALE ZE(HE) 1,900,000
N EMd A S (HIOIQAMSHY ATHAIY) (X &t 250,000 250,000 0
Arel)
308 XX SHAHSOIH 250,000 250,000 0
112 2SUHUSHEAEAE A Y| 250,000 250,000 0
Odlol2AH et Aoy dz2as X 250,000
K-FEIMSE &4 3,775,000 3,845,000 70,000
SENMY LK 3,775,000 3,845,000 A 70,000
SEIAMPSHI|BIRH 200,000 720,000 A 520,000
307 2Iz2t0| & 50,000 50,000 0
04 SIZ2HSHAAISHE E X 50,000 50,000 0
OSIHEZE - BEIAYE 2 HATHS A N 50,000
308 XAHXIGH SO0l & 150,000 440,000 A 290,000
11 Z2I2SHUSHEAXERAEASH] 150,000 440,000 A 290,000
OB=d Jlsd S&EE Jlseg X& A 150,000
SIAEZESEl AFHA AT JPX (HEALY) 2,800,000 2,800,000 0
306 =2 2,800,000 2,800,000 0
o1 s 3 2,800,000 2,800,000 0
02021 LEIIHERHEIMPA AT I Z 2,800,000
SIAE SHEl HAXAIS Z Dt 25,000 25,000 0
202 044l 10,000 10,000 0
03 =22 20| 10,000 10,000 0
Odl&AlIS ZHIF =204l 10,000
308 XHXIGH SO0l & 15,000 15,000 0
112/ 2SUHUSHE A EAE AT Y| 15,000 15,000 0
Odll & A3 &I RAEASH] 15,000
KEAMADIAHE X (HSALS) 250,000 0 250,000
308 XHXIGHHM SO0l & 250,000 0 250,000
11 B 2SHUSE AN E AIS Y 250,000 0 250,000
OSEE =5 2449 XN& 200,000
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A & 0l & AF 2 E A A
20219 S 20l LB HIOIQAH = ~ HIOI 24 =
A= Hola= M HHOI R &HERX & It
M HAHAA HIOILSAH 4
CHel: HHolQAY DIgtx 4 (=& J)
AR SA Y- SAEA) - HRAY - BES 0l &t o il Bl RE2
HHOl 2 &HEHXI & 1t 7,631,986 4,145,209 3,486,777
MIAHZE HolEAAH S4 7,582,000 4,098,000 3,484,000
Ol 4 Jlgtx o 7,582,000 4,098,000 3,484,000
HHOIR I OtMSEEHX =4 69,000 69,000 0
201 L2l 58,000 58,000 0
01 At 22l 58,000 58,000 0
Ot & ==ZHl 8,000
O=Jtatet 222 M 50,000
202 o4dl 8,000 8,000 0
01 = LH o4 1l 8,000 8,000 0
OZDtatel FRFA o4 8,000
203 YR =& 3,000 3,000 0
03 Al =AY R =&Y 3,000 3,000 0
OHIOIQAtEHE X & RFA 3,000
ES FFTANS A (HSAY) 7,500,000 4,000,000 3,500,000
403 UHXSHHSA=0l& 7,500,000 4,000,000 3,500,000
02 S 2S0CHE A=A 2 & AL H 7,500,000 4,000,000 3,500,000
OF= FFIANA AHE 7,500,000
=2 AN AEY ZR2 FA 13,000 29,000 A 16,000
201 Let24E] 10,000 10,000 0
01 At 2t 2l 10,000 10,000 0
Os=s MM U8 2822 WA 10,000
202 O4dl 3,000 19,000 216,000
01 SLHOYI 3,000 3,000 0
OB FZFAY Y L QSHIBNY o
EESS 3,000
HAE2HZ Y (HH0] A X2 1) 49,986 47,209 2,777
JlE3l 49,986 47,209 2,777
JlE2&l 49,986 47,209 2,777
201 Let24E] 15,966 15,079 887
01 At 2t 2l 15,966 15,079 887
OJl2+8Hl 6,516
OJl==s gl 9,450
202 O4dl 34,020 32,130 1,890
01 = LH 4 Hi 34,020 32,130 1,890
OJlEul 34,020




